Multiplying Integers (D)

Name:

—-19%x17
—18 X 19
—19Xx 12
16 X 15
—12x(—14)
15x12
13 % (—19)
19 % (—19)
—20X% 18
18 X 20
—12X%19
—17 %X (—19)
13x(—14)
—17 % (—20)
16 X 14
17 % (—12)
17 X (—16)
—19 X 18
—14 X 16
—14 % (—20)
15X 15
—17 % (—13)
18 X 13
—15%(—=13)
20 x 20

Date:

Calculate each product.

14 % (—12)
—12X17
13X 13
16 X 16
—-15%x14
15x17
12 X (—18)
18 X 14
20x15
14X 14
14X 13
—17 % (—17)
—13X 16
—13 X 15
—15X (—20)
—19 % (—13)
—19X%x20
—15X%X16
12x13
—19x%x (—16)
—6X17
—1x(-6)
17 x (—8)
20x 17
16 x4

—10X 15
12 % (=3)
18 X 16

2X%20

—20% (—8)

6 % (—12)

—13x(=12)
20x12
—6 X (=3)
—-1Xx1
—-9X7

2X?2
—3X%X14

9x19

8§ X2

1x(—14)
—4 X (—6)

5x16
—9x(-9)

7% (=7)
11 X (—15)
—1x(-10)
—8 % (—13)
—1x(-16)
19%x3

Score:

—17X6 =
20X (=2) =
17X 15 =
—3X%X3 =

3X19 =
—7%(—-10)=
16 X5 =
12X 15 =

—-14%x(—4) =

3x(—15)=
—9%X(=5) =
—16 X% (—19) =
15X 6 =
4x(—11)=
18X (—12)=
1x(-19)=
7x(—18)=

—10X5 =

—11x(—18)=
—5X17 =

—15x(-11)=

—15x(—4) =

6Xx11 =
9x8 =

—18 X 17 =
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Multiplying Integers (D) Answers

Name: Date: Score:

Calculate each product.

—19%x17 =-323 14x(-12)=-168 —10x15 =—150 —17X6 =-102
—18%x19 =-342 —-12x17 =-204 12%x(-3) = —36 20x(—=2) = —40
—19x12 =-228 13X13 = 169 18 x16 = 288 17X 15 = 255
16 X 15 = 240 16 X 16 = 256 2x20 = 40 —3X%X3 = -9
—12x(—=14)= 168 —15x14 =-210 —20%x(—8) = 160 3x19 = 57
15x12 = 180 15x17 = 255 6x(—12)= —72 —=7x(=10)= 70
13%x(—19)=-247 12x(=18)=-216 —13Xx(-12)= 156 16X5 = 80
19%x(—19)=—-361 18x14 = 252 20x12 = 240 12X 15 = 180
—20X% 18 =-360 20X15 = 300 —6X(=3) = 18 —14x(—-4) = 56
1820 = 360 14x14 =196 —1x1 = -1 3% (—15)= —45
—12X%19 =-228 14%x13 = 182 —-9X7 = —63 —-9X%X(=5) = 45
—17x(=19)= 323 —17x(=17)= 289 2x2 = 4 —=16%x(-19)= 304
13%x(—14)=—-182 —13%x16 =-208 —3Xx14 = —-42 15%x6 = 90
—17x(-20)= 340 —-13x15 =-195 9x19 = 171 4% (—11)= —44
16X14 = 224 —15x(—20)= 300 8x2 = 16  18x(—12)=-216
17X (—12)=—-204 —19X(—13)= 247 1x(-14)= —14 1x(-19)= —19
17%x(=16)=—272 —19%x20 =-380 —4X(—6) = 24 7x(—18)=—126
—19 X 18 =-—342 —-15X16 =-240 5x16 = 80 —-10X5 = —50
—14x16 =-224 12x13 =156 —-9%x(=9) = 81 —11x(—18)= 198
—14%(—=20)= 280 —19x(—16)= 304 7x(=7) = -49 —5%x17 = -85
15x15 = 225 —6x17 =-102 11x(-15)=-165 —15X(—11)= 165
—17x(-13)= 221 —-1%x(—-6) = 6 —1x(—=10)= 10 —-15%x(—-4) = 60
18 X 13 = 234 17%x(—8) =—136 —-8x(—13)= 104 6x11 = 66
—15x(—13)= 195 20x17 = 340 —-1x(-16)= 16 9%x8 = 72
20x20 = 400 16 x4 = 64 19X 3 = 57 —=18%x17 =-306
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